Efficiency vs Dxy(PV)
1.2

iy

0.8]

efficiency vs dxy(PV)

0.6]

0.4

0.2]

T
.

Ratio

—20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—— DQM_OITgIal STep: PTIO0 SraZporoen
—e— DOM™pixelCPETemplate sx%ﬂ pt1000_eta2pOto2
—— DQMpixelCPETemplateCutChiSquarel0”step2_ pt1000_eta2pQOto2p5
—+— DOM pixelCPETemplateCutChiSquarel5_step2__pt1000_eta2p0to2p5
— —— DQM”pixelCPETemplateCutChiSquare20_step2__pt1000_eta2p0to2p5
| Efficienc] —— b pixelCPETemplateCutChiSquare30_step2_pt1000_eta2p0to2p5

Ratio

0.

B -06-04-02 0 02 04 06 08
TP dxy(PV) (cm)

< 0.3
%.009
kel
9,008
>
3.007
8
2.006
()
0.005
0.004
0.003
0.002
0.001

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

< 0.0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


